Algebra 2

Assignment
Divide.

1) (x> + 14x% + 46x + 4) = (x + 5)

3) (x* - 7x* =312 - 4x-7) + (x + 3)

5) (x* +2x> - 82x% + 12x +28) + (x - 8)

7) (n® - 8n% + 122+ 10) + (n - 4)

9) (m* + 10m> + 15m* = 12m - 29) = (m + 2)

11) (3% - 13> = 17r +39) = (r - 5)

13) (x3 - 14x% + 44x + 3) + (x - 9)

15) (8x* +26x% = 25x% + 6x + 30) = (x + 4)

17) (10p® - 103p% + 22p + 71) = (p - 10)

19) (p*-6p>-2p+13)+(p-2)

21) (P +x2+4x-10)+(x-1)

23) (10m* = 63m> + 19m> + 4m - 69) = (m - 6)

Name 1ID: 1

Date Period

2) (n® = 14n% + 420 + 38) + (n - 8)

4) (V+v3 =312 +33v-11) = (v+4)

6) (9p* - 41p® -10p> - 60p +51) + (p - 5)

8) (x* - 2x2 - 41x +40) = (x-7)

10) (x* - 4x3 - 14x% - 44x - 40) + (x - 7)

12) (v* +18v* + 87v* +51v-25) + (v +9)

14) (6n°> - 331> +9n +25) + (n - 5)

13x% - 20x2 - 7x +3) + (x + 2)

16) (=3x* -

18) (n* + 14n° + 380> = 21n - 9) + (n + 10)

20) (7p° +79p% + 80p - 109) + (p + 10)

22) (¥ - 11v? +21v+30) = (v - 4)

24) (n® = 7n® - 4n-24) + (n - 8)



25) (x* +2x> - 39x% + 81x + 78) = (x + 8)

27) (m® +5m* - 13m +14) + (m +7)

29) (p*+7p> + p> -27p +28) = (p + 6)

31) (10p° +13p> - 12p +11) + (p + 2)

33) (x* + 14x2 +45x - 12) = (x + 6)

35) (5x% - 37x% + 6x+53) + (x = 7)

37) (m* +3m® —=9m? = 19m +2) + (m + 4)

39) (b> + 12> +29b +3) + (b +3)

41) (n* +4n* —4n® +n-11) = (n - 1)

43) (a* + 154> + 584> +4a - 74) + (a +7)

45) (a* + 64> + 12a% + 4a - 13) + (a + 3)

47y (6k* - 13k> = 2k% + 14k - 14) + (k- 1)

49) (8k> - 39k> - 59k + 32) = (k - 6)

26) (5 - 30b° - 72b% - 595 — 34) + (b - 8)

28) (m* + 3m> — 80m? + 66m + 19) + (m - 7)

30) (p* +3p>-16p +17) = (p +6)

32) (3x* = 17x° - 48x? - 68x + 36) + (x - 8)

34) (n® +8n% +13n-3) = (n + 4)

36) (10n° - 621 = 50n - 52) + (n - 7)

38) (m® —4m? -m+11) + (m - 2)

40) (p* +13p° +27p% = 40p - 102) = (p + 10)

42) (® +5a®> +a-11) + (a +3)

44) (4x* - 33x% - 60x% = 99x — 13) =+ (x - 10)

46) (106* - 676 + 39 + 8b +50) + (b - 6)

48) (3n> + 15n% - 76n - 42) + (n + 8)

50) (5m* - 30m> — 30m> - 44m + 71) + (m - 7)



51) (¥ =5x* =17x+30) + (x = 7) 52) (n* + 6n> —6n +86) + (n +8)

53) (10m* + 63m> - 44m? + 31m = 19) = (m + 7)

54) (5k* - 40k> - 54Kk% + 79 +25) + (k - 9) 55) (4n® + 120 =21 -30) + (n + 2)
56) (m* - 9m® + 26m* - 34m + 11) = (m - 5) 57) (WP -4n*+9n-7)+(n-1)
58) (a® +5a%> +12a+16) + (a +2) 59) (3x* +3x> - 19x% + 12x = 24) + (x - 2)

60) (=3n° - 18n% = 201 +20) + (n + 3)



Algebra 2
Assignment
Divide.

1) (x> + 14x% + 46x + 4) = (x + 5)

X +9x+1-
x+5

3) (x* - 7x* =312 - 4x-7) + (x + 3)
4
x+3

¥ -10x*-x-1-

5) (x* +2x> - 82x% + 12x +28) + (x - 8)
4

x-8

7y (n® - 8n% + 121+ 10) = (n - 4)
6

n-4

9) (m* + 10m> + 15m* = 12m - 29) = (m + 2)
9

m+2

11) 3% =132 = 17r +39) + (r - 5)

X +10x% =2x -4 -

n*—4n-4-

m> +8m* —m - 10 -

32+ 2 =T +

r-=>5
13) (x3—14x2+44x+3)+(x—9)
6
x-9
15) (8x* +26x% = 25x% + 6x + 30) = (x + 4)
10

x+4

17) (10p® - 103p% + 22p + 71) = (p - 10)

x> -5x-1-

8x° —6x> —x+10 -

10p> -3p -8 -
p -3p 10

19) (p* - 6p* —=2p+13) = (p-2)
7

p-2

2D (P + x> +4x-10) = (x-1)

pP—4p-10-

X2 +2x+6—
x-1

23) (10m* = 63m> + 19m> + 4m - 69) = (m - 6)

10m> = 3m?* + m + 10 -

m-06

Name

Date Period

2) (n® = 14n% + 420 + 38) + (n - 8)
10

n-8

4) (V+v3 =312 +33v-11) = (v+4)

n’>—6n-6-

v =312+ 9y -3+

v+4

6) (9p* - 41p® -10p> - 60p +51) + (p - 5)

9p° +4p* +10p - 10 +
p-5

8) (x* - 2x2 - 41x +40) = (x-7)
2
x-=17

10) (x* - 4x3 - 14x% - 44x - 40) + (x - 7)

x> +5x—-6-—

2 +3x2+Tx+5-
x-17

12) (v* +18v* + 87v* +51v-25) + (v +9)

v 4+ 9%+ 6v -3+

v+9
14) (6n°> - 331> +9n +25) + (n - 5)
6n> -3n-6- >
n-5

16) (=3x* = 13x* = 20x*> = 7x +3) = (x + 2)

-3x° = 7x* - 6x+5 -
xX+2

18) (n* + 14n° + 380> = 21n - 9) + (n + 10)

n+d4n’ -2n-1+

n+10
20) (7p° +79p% + 80p - 109) + (p + 10)
9
Tp* +9p - 10 -
peeor b+ 10

22) (¥ - 11v? +21v+30) = (v - 4)

Vv —Tv-T+

v-4

24) (n® = 7n® - 4n-24) + (n - 8)

n+n+4+
n-38

ID: 1



25) (x* +2x> = 39x% + 81x + 78) + (x + 8)

X -6x2+9x+9 +
x+8

27) (m® +5m* - 13m +14) + (m +7)

m?>-2m+1+
m+7

29) (p*+7p> + p> -27p +28) = (p + 6)
10
p+6

31) (10p° +13p* - 12p +11) + (p + 2)

PP+ pi-5p+3+

10p*> -Tp+2+
p+2

33) (x* + 14x2 +45x - 12) = (x + 6)

x> +8x -3+
xX+6

35) (5x3 = 37x% + 6x +53) = (x - 7)
3
x-=7
37) (m* +3m> = 9m® = 19m + 2) + (m + 4)

5x2 -2x -8 -

m —m?-5m+1-
m+4

39) (b° + 1262 +29b +3) + (b + 3)
3
b+3
4 *+ 4 -4 +n-11)+(n-1)
9
n-1
43) (a* +154° +58a%> + 4a - 74) + (a + 7)
4
a+7

h>+9h+2 -

n+5n°+n+2-

a® +8a*+2a-10 -

45) (a* + 64> + 12a% + 4a - 13) + (a + 3)

a+3a>+3a-5+
a+3

47y (6k* - 13k> = 2k% + 14k - 14) + (k- 1)
9
k-1
49) (8k> - 39k> - 59k + 32) = (k - 6)
2

6k> - Tk*> = 9%k + 5 -

8k* +9%k -5+
k

26) (5 - 30b° - 72b% - 595 — 34) + (b - 8)

5b3+10b2+8b+5+b6

28) (m* + 3m> — 80m? + 66m + 19) + (m - 7)
9

m> +10m* - 10m - 4 -

m-="7
30) (p* +3p>-16p +17) = (p +6)

pr-3p+2+
p+6

32) (3x* = 17x° - 48x? - 68x + 36) + (x - 8)

300 +7x% +8x -4 +
x—-8

34) (n® +8n% +13n-3) = (n + 4)

n*+4n -3+

n+4
36) (10n° - 621 = 50n - 52) + (n - 7)
10n* + 8n + 6 - 10
n-17

38) (m® —4m? -m+11) + (m - 2)

m?—2m -5+
m-2

40) (p* +13p° +27p% = 40p - 102) = (p + 10)

p+3pt-3p-10-

p+10
42) (@® +5a> +a-11) +(a +3)
a’*+2a-5+ 4
a+3

44) (4x* - 33x% - 60x% = 99x — 13) =+ (x - 10)

4x° + 7x* +10x + 1 -
x-10

46) (106* - 676 + 39 + 8b +50) + (b - 6)
10

106> = 7% = 3b - 10 -

48) (3n> + 15n% - 76n - 42) + (n + 8)
10
n+8
50) (5m* - 30m> — 30m> - 44m + 71) + (m - 7)
8

m-"17

3n’ -9n -4 -

5m> +5m* +5m -9 +



51) (¥ =5x* =17x+30) + (x = 7) 52) (n* + 6n> —6n +86) + (n +8)

n’>=2n+10 +

X2 +2x -3+
x-=17 n+8

53) (10m* + 63m> - 44m? + 31m = 19) = (m + 7)

10m> = Tm* + 5m - 4 +

m+7
54) (5k* - 40k> - 54Kk% + 79 +25) + (k - 9) 55) (4n® + 120 =21 -30) + (n + 2)
5k + 5k* = 9%k -2 + an? 4 dn - 10 - Y
_ n+?2
56) (m* - 9m® + 26m* - 34m + 11) = (m - 5) 57) (WP -4n*+9n-7)+(n-1)
m> —4m® + 6m - 4 - 0 n?-3n+6-
m->5 n-1

58) (a® +5a%> +12a+16) + (a +2) 59) (3x* +3x> - 19x% + 12x = 24) + (x - 2)

3x° +9x% - x+ 10 -

a’+3a+6+
a+?2 x-2

60) (=3n° - 18n% = 201 +20) + (n + 3)

B3n®-9n+7-
n+3



